MATHEMATICS SSC-II

Science Group

Time allowed: 2:40 Hours

Total Marks Sections B and C: 60

SECTION - B (Marks 36)
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Q.2 Solve the following Questions. (9x4=36) -03)5 J=> ©Ylgw plel 5 }w
B
(i) . 8 )
Reduce the equation 5x——+6=0to quadratic form
X Find the value of p, if roots a, 3 of an equation
and solve. s
8 1x4 OR | x? _2x+ p=0satisfy a relation 3o +4p =5 1x4
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(ii) If (x+1)and (x—1)are the factors of Solve the radical equation vx—3+5=x
x> +3px® +gx—1, use synthetic division to find the -S> 68 Jx—3+5=xOlglus Sl
values of pand ¢ .
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(iii) x y z ¥+y’+z2 xyz
If g then show that g par If U={1,2,3,....10}, 4={2,3,5,7}and
3 3 U
Xty 4z -7 5 S pScobgon LY 3 B=1{1,3,5,7,9} then verify that (4N B) =(4'UB")
p+a’+r pgr p q r 242 OR _ i1xa
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(ANB) = (A UB) S S b 85 B={1,3,5,7,9}
(iv) Resol Xt - . ial fract If 4={,2,3,4} and B={2,3,57}then find 4x B
esolve into partial fractions.
(x 1)(x+1) and a relation R:{(x,y)|xeA,yeB/\y<x}
r=2 3+1 OR: . . _  1x4
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\J If 4=141,2,3,4,5,6,7}, B=12,4,6,8 d . 3
) 1:2,3,4.5.6.7}, {2.4.6.8) an If terminal ray of 0 is in first quadrant and sin® =—
C = {1,4,7,8} then verify that 4
e (B U C): (A uB)u c then find the remaining trigonometric ratios of 0 .
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(vi) Find Arithmetic Mean from the following grouped data.
Class 20
Intervals 1-9| 10-18 | 19-27 | 28-36 | 37-45 Resolve minto partial fractions.
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(vii) Prove that perpendicular from the centre of a circle on a Calculate length of a chord
chord bisects it. AB that stands at a distance
ool 908 3 B9 S o S0 S d)-‘"i S LP)S f":’u 6¢m from the centre of a circle
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(viii) If a line is drawn perpendicular to a radial segment of a AB =12cm is a chord of circle
circle a'F its outer .end point, it is tangent to the circle at having radius Od = OB = 8cm
that point. Prove it. with centre O. Find radius
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—2Uon ywlan § 4 J5ls 5gac with the first circle passing
through mid-point M of AB /
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(ix)

In  triangle AABC mBC = 6¢cm, mAC =3cm  and

mBA = 4cm . Calculate projection length x of AC on
BA . C

60°.
0595L 0533 S 2913 S 60° 97 wziS 0,515 S

Draw a circle that touches both arms of an angle of
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SECTION - C (Marks 24)
Note: Solve the following Questions. (3x8=24) -u.a)s J= le}w ‘aw
Q.3 Using the Componendo-Dividendo Theorem, prove Determine variance and standard deviation from
x+7a x+7b ) 14ab the following frequency of distribution.
that —7a x—7b:2Ifx:a+b x| 10 20| 30| 40| s0| 60| 70
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Q.4  Find height of a tree if its shadow decreases by 10m If two arcs of a circle (or of congruent circles) are
when the depression angle of sun rays changes from congruent, then the corresponding chords are equal.
30°to 45° Prove it.
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Q.5 | The measure of a central angle of minor arc of a circle Circumscribe a square about a circle of radius Scm
is double that of the angle subtended by the and write down the construction steps.
corresponding major arc. Prove it. sl gl ol po e pol=e £ ol S eloy e 5
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